
-01-

ASSEMBLY INSTRUCTION

type1 type3

type2



A

M6x40

x 18 B x 34 C x 21D x 8E x 12F

x 2

M6x30

M4

G H x 3

M4x12

x 1I

M6x25

x 8

J x 1

-02-

M6x12 M7x50

K x 10 L

x 1M x 1 N x 1

M4x14

1 2

3

4

5

6

6

7

7

8

9

10

12

11

11

13

13
13

13

16
15

14
17

18

18

18

1819

20

20
20

21

22

O x 1

x 2

M6x15

P x 1 P x 2



-03-

x1PC1 x1PC2 x1PC3

x1PC4 x1PC5 x2PCS6

x2PCS7 x1PC8 x1PC9

x1PC10 x2PCS11 x1PC12



-04-

x4PCS13 x1PC14 x1PC15

x1PC16 x1PC17 x4PCS18

x1PC19 x4PCS20

x1PC21 x1PC22



1

2

-05-

K x 10

M6x15

A

M6x40

x 10

M4

J x 1

9
10

12 11 11

9
10

12

11
11

19 18
18

18
18

K

K

K
K

K
K

K
K

K
K

A

A

A
A

A
A

A
A

A
A

type1

70%



3

4

-06-

B x 8

M6x30

x 8E

M7x50

M4

J x 1

M4

J x 1

10

12

11

11

7

7

6

6

11

11

12

10

B

B
B

B

B B

B

B

E

E

E E

E E

E
E

70%

100%



5

6

-07-

A

M6x40

x 4

A

M6x40

x 3 x 1D

M6x12

M4

J x 1

M4

J x 1

15

14

12

11

17
16

A

A

A

A

A

A

A

D

15

9

10

11

11

11

1210

16

!



7

8

-08-

B x 8

M6x30 M4

J x 1

13

13

13

13
3

1

B

B B

B
B

B

B

B

x 6D

M6x12 M4

J x 1 P x 2

P

x 3D

x 3D

P

P
D
D

D

P

D
D

D



9

10

-09-

B x 18

M6x30

x 6D

M6x12

M4

J x 1

M4

J x 1

1

3

2

20

20

20

20

B

B

B

B

B B

B

B B
B

B
B

B

B

B B

D

D

D
D

D

D

B
B



11

12

-10-

C

M6x25

x 8

x 2G

M4x14 M4

J x 1

M4

J x 1

N x 1

4

5

G
G

N

CC

CC
C C

C C



13

14

-11-

x 6D

M6x12

H x 3

M4

J x 1

L x 2

L

L

D
D

D
D

D
D

H H

H



15

16

-12-

x 4F

M4x12

M4

J x 1

M4

J x 1

x 8F

M4x12

F F F
F

F
F

F
F

O

P

8F
F

F
F

50mm

O x 1 P x 1



17

18

-13-

x 2D

M6x12 M4

J x 1

21

22

21

D
D



19

OK

-14-

x 1M x 1

M

M

M



1

2

-15-

K x 10

M6x15

A

M6x40

x 10

M4

J x 1

type2

9
10

12 11 11

9
10

12

11
11

19 18
18

18
18

K

K

K
K

K
K

K
K

K
K

A

A

A
A

A
A

A
A

A
A

70%



3

4

-16-

B x 8

M6x30

x 8E

M7x50

M4

J x 1

M4

J x 1

10

12

11

11

7

7

B

B
B

B

B B

B

B

100%

70%

6

6

10
12

11

11

E E

E
E

E
E

E
E



5

6

-17-

A

M6x40

x 4

A

M6x40

x 4 x 1D

M6x12

M4

J x 1

M4

J x 1

11

12

9

10

A

A

A

D

A

A

A

A

A

16

17

15

14

D

16

!
12

11

11

1110



7

8

-18-

B x 8

M6x30 M4

J x 1

13

13

13

13
3

1

B

B B

B
B

B

B

B

16

15
P D

D
D

P D
D

D

x 6D

M6x12 M4

J x 1 P x 2

P

x 3D

x 3D

P



9

10

-19-

B x 18

M6x30

x 6D

M6x12

M4

J x 1

M4

J x 1

1

2
3

20

2020

20

B
B

B B

B

B

B

B

B
B

B B

B

B

B B
B

D

D

D
D

D

D

B



11

12

-20-

C

M6x25

x 8

x 2G

M4x14 M4

J x 1

M4

J x 1

N x 1

5
4

G G

N

C
C

C
C

C
C

C
C



13

14

-21-

x 6D

M6x12

H x 2

M4

J x 1x 1I

L x 2

L
L

D

D

DD

D D
H

H

I



15

16

-22-

x 4F

M4x12

M4

J x 1

M4

J x 1

x 8F

M4x12

F F

F
F

F
F F

F

O

P

F
F

F

F

8

50mm

O x 1 P x 1



17

18

-23-

x 2D

M6x12 M4

J x 1

D

D

21

22

21



19

OK

-24-

x 1M x 1

M

M
M



1

2

-25-

K x 10

M6x15

A

M6x40

x 10

M4

J x 1

type3

70%

9
11

12 11 10

9
11

12

11
10

19 18
18

18
18

K

K

K
K

K
K

K
K

K
K

A

A

A
A

A
A

A
A

A
A



3

4

-26-

B x 8

M6x30

x 8E

M7x50

M4

J x 1

M4

J x 1

6

6

11
12

11

10

E E

E
E

E
E

E
E

70%

100%

11

12

11

10

7

7

B

B
B

B

B B

B

B



5

6

-27-

A

M6x40

x 4

A

M6x40

x 3 x 1D

M6x12

M4

J x 1

M4

J x 1

15

14

17

16

9

15

A

A

A

A

12

11

A

A

A

D

16

!

11

10

11

10

11

12



7

8

-28-

B x 8

M6x30 M4

J x 1

13

13

13

13
3

1

B

B B

B
B

B

B

B

x 6D

M6x12 M4

J x 1 P x 2

P

D
D

D

P

D
D

D

x 3D

x 3D

P

P



9

10

-29-

B x 18

M6x30

x 6D

M6x12

M4

J x 1

M4

J x 1

1

3

2

20

20

20

20

B

B

B
B B

B

B B

B

B

B

B

B
B

B
B

D

D

D
D

D

D

B

B



11

12

-30-

C

M6x25

x 8

x 2G

M4x14 M4

J x 1

M4

J x 1

N x 1

4

5

G
G

N

C C

C

C

C
C

C C



13

14

-31-

x 6D

M6x12

H x 3

M4

J x 1

L x 2

L

L

DD

DD D
D

H

H H



15

16

-32-

x 4F

M4x12

M4

J x 1

M4

J x 1

x 8F

M4x12

8

O

P

F F
F F

FFFF

F

F
F

F

50mm

O x 1 P x 1



17

18

-33-

x 2D

M6x12 M4

J x 1

D

D

21

22

21



19

OK

-34-

x 1M x 1

M

M

M



-35-

England
1. Avoid long-term direct sunlight exposure.
2. Keep away from heat.
3. Keep away from sharp objects.
4. Keep infants/children away from assembly parts to avoid choking and suffocation.
5. Keep away from corrosive substances.
6. Pay attention to avoid over-tightening fasteners, or they may induce cracking within the board.

Germany
1. Vermeiden Sie langfristige direkte Sonneneinstrahlung.
2. Von Hitze fernhalten.
3. Von scharfen Gegenständen fernhalten.
4. Halten Sie Säuglinge/Kinder von den Montageteilen fern, um Erstickungsgefahr zu vermeiden.
5. Von ätzenden Substanzen fernhalten.
6. Achten Sie darauf, Befestigungselemente nicht zu fest anzuziehen, da dies zu Rissen in der Platte führen kann.

France
1. Évitezl'exposition directe au soleil à long terme.
2. Conserver à l'écart dela chaleur.
3. Tenir à l'écart desobjets pointus.
4. Gardez les nourrissons/enfants éloignésdespièces d'assemblage pour éviterl'étouffement et la suffocation.
5. Tenir à l'écartdes substances corrosives.
6. Faites attention à ne pas trop serrer les fixations, car elles pourraient provoquer des fissures à l'intérieur delaplanche.

Italy
1. Evitare l'esposizione diretta alla luce solare a lungotermine.
2. Tenere lontano dal calore.
3. Tenere lontano da oggetti appuntiti.
4. Tenere i neonati/bambinilontani dalle partidel gruppo per evitare soffocamento.
5. Tenere lontano da sostanze corrosive.
6. Prestare attenzione a evitare di stringereeccessivamente gli elementidifissaggio, altrimenti potrebbero causare crepe
all'interno dellascheda.

Spain
1. Evitela exposición prolongada a la luz solar directa.
2. Mantener alejado del calor.
3. Mantener alejado de objetos afilados.
4. Mantenga a los bebés/niñosalejados delas piezas de montaje para evitar asfixia y asfixia.
5. Mantener alejado de sustancias corrosivas.
6. Preste atención para evitar apretar demasiadolos sujetadores, ya que podrían provocar grietas dentro del tablero.


	ADF-2211 变L型书桌01
	ADF-2211 变L型书桌02
	ADF-2211 变L型书桌03
	ADF-2211 变L型书桌04
	ADF-2211 变L型书桌05
	ADF-2211 变L型书桌06
	ADF-2211 变L型书桌07
	ADF-2211 变L型书桌08
	ADF-2211 变L型书桌09
	ADF-2211 变L型书桌10
	ADF-2211 变L型书桌11
	ADF-2211 变L型书桌12
	ADF-2211 变L型书桌13
	ADF-2211 变L型书桌14
	ADF-2211 变L型书桌15
	ADF-2211 变L型书桌16
	ADF-2211 变L型书桌17
	ADF-2211 变L型书桌18
	ADF-2211 变L型书桌19
	ADF-2211 变L型书桌20
	ADF-2211 变L型书桌21
	ADF-2211 变L型书桌22
	ADF-2211 变L型书桌23
	ADF-2211 变L型书桌24
	ADF-2211 变L型书桌25
	ADF-2211 变L型书桌26
	ADF-2211 变L型书桌27
	ADF-2211 变L型书桌28
	ADF-2211 变L型书桌29
	ADF-2211 变L型书桌30
	ADF-2211 变L型书桌31
	ADF-2211 变L型书桌32
	ADF-2211 变L型书桌33
	ADF-2211 变L型书桌34

